
࡯࠲ࠬࡖࠠ

T
C

H
-F

F
 2

0
1

3
, 

H
J
A

-j
p

, 
1

1
/1

2
; 
⴫
␜
ኸ
ᴺ
ߥ
ߤ
ߩ
઀
᭽
ߪ
ᄌ
ᦝ
ߐ
ࠇ
ࠆ
႐
ว
߽
޽
ࠅ
߹
ߔ
ޕ

www.hafele.co.jp

12

࠹
࡯
ࡉ
࡞
࡮
ኅ
ౕ
⣉
㑐
ㅪ
㊄
ౕ

Table and Furniture Base FittingsCastorsApplication matrixPrices · Availability · OrderingPrices · Availability · OrderingPlanning and constructionDimensional data not binding. We reserve the right to alter specifications without notice.

ࠫ࡯ࡍ ゞベ㕙 ⠴⩄㊀ ขઃ

ࡂ
࡯
࠼

࠰
ࡈ
࠻

6
 㧙

1
7

2
5

 㧙
 3

5

4
0

 㧙
 6

0

7
0

 㧙
 1

1
0

1
3

5
 㧙

 2
9

5

ᐔ
ઃ
ࡊ
࡟
࡯
࠻

࠳
ࡏ

᛼
ߒ
ㄟ
ߺ
࠰
ࠤ
࠶
࠻

ࡀ
ࠫ
ㄟ
ߺ
ࡏ
࡞
࠻

ኅౕ↪࡯࠲ࠬࡖࠠࡦࠗࠩ࠺

FF 12.38

FF 12.39

FF 12.40

FF 12.41

෺ベࠠ࡯࠲ࠬࡖ

FF 12.42

FF 12.43

FF 12.44

FF 12.45

ኅౕ↪ࠠޓ࡯࠲ࠬࡖ․ᱶ↪ㅜ↪

FF 12.46 㧙 

12.47

ᣓ࿁ࠠޓ࡯࠲ࠬࡖ⸳஻↪

FF 12.48

ᵈᗧ

࡯࠲ࠬࡖࠠ 4୘ࠍ૶↪ߚߒ႐ว࡞࡯࡞ߥ⊛⥸৻ߩ㧦

� ኅౕ㊀㊂ߩ ࡯࠲ࠬࡖࠠ = 1/3 1୘ߩࠅߚ޽⸵ኈ⩄㊀

� ゞベ㕙࠼࡯ࡂ㧦ߥ࠻ࡈ࠰ᐥ↪ޓ଀㧦ࠞ࠻࠶ࡍ࡯

� ゞベ㕙࠻ࡈ࠰㧦⎬޿ᐥ↪ޓ଀㧦ነᧁᒛࠅ

Table and Furniture Base Fittings

Castors

Application matrix

FF 12.37Online Catalogue:



࡯࠲ࠬࡖࠠ

T
C

H
-F

F
 2

0
1

3
, 

H
J
A

-j
p

, 
1

1
/1

2
; 
⴫
␜
ኸ
ᴺ
ߥ
ߤ
ߩ
઀
᭽
ߪ
ᄌ
ᦝ
ߐ
ࠇ
ࠆ
႐
ว
߽
޽
ࠅ
߹
ߔ
ޕ

www.hafele.co.jp

12

࠹
࡯
ࡉ
࡞
࡮
ኅ
ౕ
⣉
㑐
ㅪ
㊄
ౕ

⠴⩄㊀ޕߔ߹ࠅ޽႐ว߽ࠆࠇߐᄌᦝߪ઀᭽ߩߤߥ᭴ㅧ⴫␜ኸᴺޔ⸘⸳࡯࠲ࠬࡖࠠࡦࠗࠩ࠺↪ኅౕ࡯࠲ࠬࡖኅౕ⣉㑐ㅪ㊄ౕࠠ࡮࡞ࡉ࡯࠹ 50 kg

⠴⩄㊀ 50 kg

ᧄ૕㧦ࠢࠠ࠶ࡔࡓ࡯ࡠ ᧄ૕㧦ࡒ࡞ࠕ⦡

ᪿ൮ : 2 ୘

ᪿ൮ ୘ 4ޔ1 :

ᐔઃ࠻࡯࡟ࡊ㨮

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

㨮࠻࡞ࡏߺㄟࠫࡀ

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

� ᧚⾰ : ᧄ૕㧦੝㋦ว㊄ゞޔ ベ㧦ࠢ࠶࠴ࠬ࡜ࡊ

� ゞベ Ø: 67 mm

� ⠴⩄㊀ : ⚂ 50 kg / ゞベ

� ઀᭽ : ᣓ࿁ࡊࠗ࠲㨮ࠠ࡯࡟ࡉઃ

ขઃ ゞベ㕙 ᧄ૕㧦ࠢࠠ࠶ࡔࡓ࡯ࡠ㨮

ゞベ㧦ࠣ࡯࡟

ᧄ૕㧦ࡒ࡞ࠕ⦡㨮

ゞベ㧦ࠣ࡯࡟

ᐔઃ࠻࡯࡟ࡊ
࠻ࡈ࠰ 661.88.201 661.88.901

࠻࡞ࡏߺㄟࠫࡀ
࠻ࡈ࠰ 661.88.202 661.88.902

࡯ࡃ࡜ ޓࡦ࠲࡟࠙࡝ࡐ

ゞベ㕙ㅘ᣿

ޓࠢ࠶࠴ࠬ࡜ࡊ

ゞベ㕙㤥

ޓ࠽ࡉ

ゞベ㕙㤥

ᐔઃ࠻࡯࡟ࡊ㨮

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

㨮࠻࡞ࡏߺㄟࠫࡀ

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

� ᧚⾰ : ᧄ૕㧦ࠬ࡞࡯࠴

� ઀਄ : ᧄ૕㧦ࠢࠠ࠶ࡔࡓ࡯ࡠ

� ⠴⩄㊀ : ⚂ 50 kg / ゞベ
� ઀᭽ : ᣓ࿁ࡊࠗ࠲㨮ࠠ࡯࡟ࡉઃ

ขઃ ࠭ࠗࠨ ゞベ Ø RD ゞベ᏷ ขઃ㜞ߐ ゞベ㕙 ઀਄ / ⦡ ຠ⇟

mm mm mm mm

⵾ゞベ࡯ࡃ࡜

ᐔઃ࠻࡯࡟ࡊ
42x42 50 18 82 ࠻ࡈ࠰ ࡯࡟ࠣ 661.52.500

࠻࡞ࡏߺㄟࠫࡀ
M8x15 50 18 78 ࠻ࡈ࠰ ࡯࡟ࠣ 661.52.510

⵾ゞベࡦ࠲࡟࠙࡝ࡐ

ᐔઃ࠻࡯࡟ࡊ
60x60 80 24 125 ࠻ࡈ࠰ 㤥 661.50.401

࠻࡞ࡏߺㄟࠫࡀ
M10x15 80 24 118 ࠻ࡈ࠰ 㤥 661.50.411

⵾ゞベ࡞࡝ࠢࠕ

ᐔઃ࠻࡯࡟ࡊ
60x60 80 12 125 ࠻ࡈ࠰ ㅘ᣿ 661.49.401

࠻࡞ࡏߺㄟࠫࡀ
M10x15 80 12 118 ࠻ࡈ࠰ ㅘ᣿ 661.49.411

ᐔઃ࠻࡯࡟ࡊ
60x60 80 12 125 ࠻ࡈ࠰ ⦡࠼࠶࠙࡯࡝ࠚ࠴ 661.51.601

Ⴃⵝ࡯ࠞ࠶࡜ࠕ࡝ࠢ 661.51.301

࠻࡞ࡏߺㄟࠫࡀ
M10x15 80 12 118 ࠻ࡈ࠰ ⦡࠼࠶࠙࡯࡝ࠚ࠴ 661.51.611

Ⴃⵝ࡯ࠞ࠶࡜ࠕ࡝ࠢ 661.51.311

࡯࠳ࠗ࡜ࠣ↪ኅౕ߈ઃߓߨ߼
ŹFF 12.60

࡯࡝ࠨ࠮ࠢࠕ↪࡯࠲ࠬࡖઃࠠ࠻࡞ࡏߺㄟࠫࡀ
ŹFF 12.50

FF 12.38 V.4 Online Catalogue:



࡯࠲ࠬࡖࠠ

T
C

H
-F

F
 2

0
1

3
, 

H
J
A

-j
p

, 
1

1
/1

2
; 
⴫
␜
ኸ
ᴺ
ߥ
ߤ
ߩ
઀
᭽
ߪ
ᄌ
ᦝ
ߐ
ࠇ
ࠆ
႐
ว
߽
޽
ࠅ
߹
ߔ
ޕ

www.hafele.co.jp

12

࠹
࡯
ࡉ
࡞
࡮
ኅ
ౕ
⣉
㑐
ㅪ
㊄
ౕ

⠴⩄㊀ޕߔ߹ࠅ޽႐ว߽ࠆࠇߐᄌᦝߪ઀᭽ߩߤߥ᭴ㅧ⴫␜ኸᴺޔ⸘⸳࡯࠲ࠬࡖࠠࡦࠗࠩ࠺↪ኅౕ࡯࠲ࠬࡖኅౕ⣉㑐ㅪ㊄ౕࠠ࡮࡞ࡉ࡯࠹ 50 kg

⠴⩄㊀ 55 㧙 70 kg

ᪿ൮ ୘ 20ޔ1 :

ᪿ൮ ୘ 4ޔ1 :

� ᧚⾰ : ᧄ૕㧦੝㋦ว㊄ゞޔ ベ㧦ࠢ࠶࠴ࠬ࡜ࡊ

� ઀਄ : ᧄ૕㧦ࠢࠠ࠶ࡔࡓ࡯ࡠ

� ⦡ : ゞベ㧦࡯࡟ࠣࠢ࡯࠳

� ゞベ㕙 : ࠻ࡈ࠰

� ゞベ Ø: 50 mm

� ⠴⩄㊀ : 50 kg / ゞベ

ઃࠠ࡯࡟ࡉ ߒߥࠠ࡯࡟ࡉ

ᐔઃ࠻࡯࡟ࡊ㨮

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

㨮࠻࡞ࡏߺㄟࠫࡀ

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

ขઃ ࠭ࠗࠨ ขઃ㜞ߐ ゞベ᏷ ຠ⇟

mm mm mm

ᣓ࿁ࠠ࡯࡟ࡉޔࡊࠗ࠲ઃ

ᐔઃ࠻࡯࡟ࡊ
36.5x36.5 69 29 660.19.261

࠻࡞ࡏߺㄟࠫࡀ
M10x15 67 29 660.19.289

ᐔઃ࠻࡯࡟ࡊ
36.5x36.5 69 29 660.18.264

࠻࡞ࡏߺㄟࠫࡀ
M10x15 67 29 660.18.282

� ᧚⾰ : ᧄ૕㧦ࠬ࡞࡯࠴ゞޔ ベ㧦࠽ࡉ

� ⦡ : ᧄ૕㧦ࠣ࡯࡟

� ゞベ㕙 : ࠻ࡈ࠰

� ゞベ᏷ : 22 mm

ᣓ࿁ࡊࠗ࠲㨮

ઃࠠ࡯࡟ࡉ

㨮࠻࡞ࡏߺㄟࠫࡀ

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

ᣓ࿁ࡊࠗ࠲㨮

ߒߥࠠ࡯࡟ࡉ

ᐔઃ࠻࡯࡟ࡊ㨮

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

࿕ቯࡊࠗ࠲ ᐔઃ࠻࡯࡟ࡊ㨮

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

ขઃ ࠭ࠗࠨ ゞベ Ø RD ขઃ㜞ߐ ⠴⩄㊀ ຠ⇟

mm mm mm kg

ᐔઃ࠻࡯࡟ࡊ
65x50 80 105

⚂ 55 661.47.301

100 123
⚂ 70 661.47.302

࠻࡞ࡏߺㄟࠫࡀ
M10x20 80 103

⚂ 55 661.47.311

ᐔઃ࠻࡯࡟ࡊ
65x50 80 105

⚂ 55 661.46.301

100 123
⚂ 70 661.46.302

࠻࡞ࡏߺㄟࠫࡀ
M10x20 80 103

⚂ 55 661.46.311

࿕ቯࡊࠗ࠲

ᐔઃ࠻࡯࡟ࡊ
60x35 80 105

⚂ 55 661.48.301

100 123
⚂ 70 661.48.302

࡯࠳ࠗ࡜ࠣ↪ઃኅౕߓߨ߼
ŹFF 12.60

࡯࡝ࠨ࠮ࠢࠕ↪࡯࠲ࠬࡖࠠ࠻࡞ࡏߺㄟࠫࡀ
ŹFF 12.50

ኅౕ↪㊄ౕࠠ࡯࠲ࠬࡖኅౕ↪ࠠ࡯࠲ࠬࡖOnline Catalogue:Online Catalogue:⸳⸘ޔ᭴ㅧߩߘࠃ߅ኸᴺޕ ᭴ㅧ߇ᄌᦝޕߔ߹ࠅ޽߇ߣߎࠆߔ

2013.1.11

FF 12.39V.4  Online Catalogue:



࡯࠲ࠬࡖࠠ

T
C

H
-F

F
 2

0
1

3
, 

H
J
A

-j
p

, 
1

1
/1

2
; 
⴫
␜
ኸ
ᴺ
ߥ
ߤ
ߩ
઀
᭽
ߪ
ᄌ
ᦝ
ߐ
ࠇ
ࠆ
႐
ว
߽
޽
ࠅ
߹
ߔ
ޕ

www.hafele.co.jp

12

࠹
࡯
ࡉ
࡞
࡮
ኅ
ౕ
⣉
㑐
ㅪ
㊄
ౕ

⠴⩄㊀ޕߔ߹ࠅ޽႐ว߽ࠆࠇߐᄌᦝߪ઀᭽ߩߤߥ᭴ㅧ⴫␜ኸᴺޔ⸘⸳:Online Catalogue:Online Catalogue࡯࠲ࠬࡖࠠࡦࠗࠩ࠺↪ኅౕ࡯࠲ࠬࡖኅౕ⣉㑐ㅪ㊄ౕࠠ࡮࡞ࡉ࡯࠹ 75 kg

⠴⩄㊀ 80 kg

ᪿ൮ ୘ 100ޔ1 :

ᣓ࿁ࡊࠗ࠲㨮ࠠ࡯࡟ࡉઃ

ᪿ൮ : 2 ୘

ඨㅘ᣿㕍 ㅘ᣿

� ᧚⾰ : ޔゞ࡞࡯࠴㧦ࠬࠣࡦࠪ࡯ࠤ ベ㧦࡯ࡃ࡜

� ઀਄ : ࠠ࠶ࡔ㧦੝㋦࡞࡯࠴ࠬ

� ⠴⩄㊀ : 75 kg / ゞベ

� ઀᭽ : Ṗ⿛㕙ߥ߆ࠄṖ߽ߡߣ

ゞベ Ø RD ขઃ㜞ߐ H ゞベ᏷ ⦡ ຠ⇟

mm mm mm

ᣓ࿁ࡊࠗ࠲

50 75 20 ㅘ᣿ 661.75.400

75 100 24 ඨㅘ᣿㕍 661.75.401

ᐔઃ࠻࡯࡟ࡊ㨮

㨮࡞࡯࠴ࠬ

੝㋦ࠠ࠶ࡔ

81

� ᧚⾰ : ࠢ࠶࠴ࠬ࡜ࡊゞベ㧦࡮ࠣࡦࠪ࡯ࠤ

� ઀਄ / ⦡ : 㨮⦡ࡒ࡞ࠕ㧦ࠣࡦࠪ࡯ࠤ

ゞベ㧦㤥㨮ࠠ࡯࡟ࡉ㧦㤥

� ゞベ Ø: 180 mm

� ⠴⩄㊀ : ⚂ 80 kg / ゞベ

ขઃ ゞベ㕙 ຠ⇟

ᐔઃ࠻࡯࡟ࡊ
࠼࡯ࡂ 661.92.911

ᐔઃ࠻࡯࡟ࡊ
࠼࡯ࡂ 661.92.901

FF 12.40 V.4 Online Catalogue:


